Copo szxﬁr

Ouvanoru:

c{-o

[pammartuka: An important noun géHbru money

“That’s too expensive”

More numbers: 200-999.999
The verb cToun+ cost
Cnywai- listen (to) vs. cnblwas+ hear

:l

Aunanor
3TO CNULWKOM AOpPOro That’s too expensive
I'éna 1 | (B marasyHe) (In a store)
2 | CkaxHTe, MOKAITYHCTa, CKOJIBKO CTOMT 3TOT KpacHBIi | Could you please tell me how much that red
3 | mapd? scarf costs?
Baps 4 | OH cTOUT THICAY1Y pyOaéit It costs 1000 rubles.
I'éna 5 | OTo ¢HAAMIKOM AOPOTO. A CKONBKO CTOUT BOT 3TOT | That'’s too expensive. How much does that
6 | MAJIEeHLKHH XENTHIH mapd? small yellow scarf over there cost?
Baps 7 | YeTnIpecTa cOPOK OTUH PyOIIb. 441 rubles.
I'éna 8 | CafimkoM I6poro. A BOT ATOT OUeHb MAJICHBKHUM, | Too expensive. And that very small, old (dark)
9 | cTapeli cuHui mapd, CKOJIBKO OH CTOUT? blue scarf, how much does it cost?
Baps 10 | Copok pyOnei. 40 rubles.
I'éHna 11 | Her, 310 chvimmkom gaoporo. No, that’s too expensive.
Baps 12 | MoOkeT OBITh, BBl MCHS He ¢JAbIAMU. fl cka3ama, | Maybe you didn’t hear me. I said it cost 40
13 | 94TO OH CTOWUT COPOK pyOIEH rubles.
I'éHna 14 | Hert, st Bac ciplmain. No, I heard you.
Baps 15 | A cKOJIBKO I€HET Bbl XOTUTE MOTPATUTDL Ha mapd? | How much money do you want to spend on the
scarf?
I'éna 16 | MOxeT OBITh, ABAANATE PyOaci. [[émo B TOM, UT0 | Maybe 20 rubles. The thing is, it’s a present for
17 | 3To MOTAPOK IS CECTPhI MOCH KESHEI. my wife’s sister.
CaoBapsp

(See new numbers below)

2 | crom+

cost (See more below)

4 | pyomp” (Masc)

JIBa pyoIIs, cTO pyonci

ruble (As of December 2,1999, $1 [126.6 rubles.)

5 | CIAMKOM

too; excessively

6 | ManeHbKUH

small

12 | cnplma+

hear (See more below)

15 | néun/H (e)

money (See more below)

15 | moTpaTu+ (Ha 4TO)

spend (money, time) on something (One-time action.)
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Grammar Lesson 42

42.A  An Important Noun: géHb/ru (e) money

This noun is always plural in Russian, which means that the Genitive Plural cannot be predicted (since, as you
recall, the Genitive Plural is based on the Nominative Singular). The Genitive is néHer (with a cluster buster
before the final consonant, and no more soft-sign).

Examples:
TBoW AéHBTH JIKAT TaM Ha KPOBATH. Your money is (lying) there on the bed.
OHa B3s1a A¢HBIH U YIIIIA. She took the money and left.
OH CIUIIKOM JIIOOUT A€HBLIH. He cares too much about money.
— CKOJIBKO y TeOS aAéHer? How much money do you have?
— VYV McHSA HEeT AéHer. Idon’t have any money.

Let’s practice using this important word.

@ Put the noun génbru into the correct form

1. V menst Her . 2. JIEJKAT Ha CTOJIE.
3. VY Hero6 64deHs mano little . 4. Ckompko y Tebs ?
5. 'V buuia ['éittca 0ueHp MHOTO . 6. TI'me g ocTaBui ?

42.6 More Numbers: 200-999.999*

*Russians write a period in large numbers where we write a comma: 76.349.910 and a comma in decimals where
we write a period: 7,6 (“seven point six”).

All of these numbers take Genitive Plural Adjectives and Nouns (unless, of course, the final digit is 1-4, which we
covered previously):

200 JIBECTH
300 TpHUCTa
400 YeThIpecTa
500 IISITHCOT
600 IIECTHCOT
700 CEMbCOT
800 BOCEMBCOT
900 JIEBATHCOT
1000 TBICSTYA
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42-1 ypok MpamMmaruka

2000 JIBE THICIYH
3000 TPH THICIYU
5000 [IATh THICSY

10,000 nécaTh TRICAY
21,000 gBAMIATH OJHA THICSYA
100,000 cto THICSY

Notes about spelling and forms:

Tpucra 300 and wetkipecta 400 — These forms actually make sense: after Tpu and 4eTnIpe you have the
Genitive Singular of eto, a Neuter noun.

________________________________________________________________________________________________________________

? : Question: What’s up with aséctu 200? Shouldn’t it be xBacra?
i Answer: In theory, you’re absolutely right. However, originally, aBe was used with both

' Feminine and Neuter nouns, so that explains the aBe (vs. aBa).

|

i As for -cTH (vs. cTa), it goes back to the Dual, where -u was the Neuter Dual

| ending. The Dual has died in the modern language, but the -cTh in aABécTH is a
i vestige. You can explain all this to a Russian friend, because it’s not very

i likely that even they will know about this.

HaTeedT 500 — neBaTHLEOT 900 — Again these forms are what we predict. After 5-9 we get the Genitive Plural of
c1o, which is ecoT (which has the cluster buster ‘0’, after you nuke the ending -0). Also, remember the “One ‘»’
only” spelling rule. Since coT has no ‘b’ in it, the ‘B’ appears right after the first half of the word: maTRC6T,
1ecThLeOT, ctc.

Triesgua /000 — This number behaves like a regular Feminine noun, as we’ll see below.

JIBe ThIcsuu 2000 — deThipe Thicsauu 4000 — These are exactly what we would predict: the Genitive Singular of
the Feminine noun TeIcsiua after 2, 3, 4.

> nAaTh Thica4 5000 — As expected, we find the Genitive Plural of Teiestua (nuke the vowel) after numbers = 5.

All of these numbers take Genitive Plural adjectives and nouns (unless, of course, the final digit is 1-4, which we
covered previously):

YV Moerd npodéccopa Tpu THICSUH CKYUHBIX KHHUT. My professor has 3000 boring books.
Hamr moM ¢TOMI ¢TO THICAY AOIIAPOB. Our house cost $100,000.

B IlprHCTOHE yUaTCA YeTBIpe TRICAUN HATBCOT  There are 4500 (excellent) students at Princeton.
(OTMAYHBIX) CTYIEHTOB.

V MeHA ceMbcOT (HOBEIX) THCKOB. I have 700 (new) CDs.
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Grammar Lesson 42

@ Pronounce these number phrases. (Don’t forget about 2, 3,4, and agreement, etc., etc.)

200 interesting books 352 Japanese computers

501 ugly ties

2

500 rubles 4. $10,000 (Nominative is 16J11ap)
6. 790 sports cars
8

1,834 talentless lawyers 2,000 Russian doctors

A

424 German newspapers 10. 666 large jars of black caviar

42.B The Verb cton+ cost

This is actually a fransitive verb in Russian, which means that it takes the Accusative Case. The Accusative of
the number usually is the same as the Nominative, unless the price ends in the number 1000, in which case
ThIcsiva will become Tricsy:

XOpOmIHid KOMIIBIOTEP CTOMT ABE THICAIH A good computer costs $2000.
IOILIapoB.
Ero6 HOBasg cnopTHBHAS MAIIHHA CTOMJIA His new sports car cost $33,000.

TPHALATEH TPHU THICAYH TOJIAPOB.

With 1000 we can clearly see the Accusative:

IT1oT HoTOANIAPAT CTOMT TRICATY HOIIApOB.  This camera costs $1000

DTH GPIOKU CTOAT TEICTIY PyOISi. These pants cost 1000 rubles.

@ Say how much the items cost. Begin each response with the question Ckonbko cToumT...?

1. our house / $90,000 2. bread/ 2 rubles

3. his new Italian sports car / $40,000 4. newspaper “Truth’ / 3 rubles

5. abottle of good German beer / $21 6. that ugly tie / 103 rubles

7. her new pants / $50 8. his notebook (computer) / 20,000 rubles
9. coffee (Starbuck’s) / $33 (it just seems like it) 10. good dictionary / 250 rubles

11. good watch / $1000 12. imported AMmopTHbIii sausage / 70 rubles
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42-1 ypok MpamMmaruka
|

42.I' Cnywan+ listen (to) vs. Cnbiwa+ hear

First note that these two verbs, despite very similar /nfinitives (caymarh / eJapimarh) actually have completely
different Present Tense conjugations. Caymaii+ is a 1¥-conjugation(Up-to-Snuff) aii-stem verb (just like 3HAji+,
nymaii+, etc.), while eaprmas+ is a 2™'-conjugation (Guitar) ’Ka-’Ka-stem (like 3akpuud+, cTosi+)

Person/ | Pronoun CJIyIIa+ CJIBIIIA+
Number listen (to) hear
PRESENT TENSE
1sg a1 CITynIaro CJIBITITY
2sg THI CIIyNIaellb CJIBIIIAIN b
3sg OH/OHA/OHO CIIynIaeT CJIBIIIAT
1pl MBI cIIyniaem CJIBIIIAM
2pl BBI cIIyIaeTe CJIBIIINTE
3pl OHH CIIYTIAIOT CJIBIIIAT
PAST TENSE
Masc s, ThI, OH CIIyIIaj CJIBIIIAI
Fem sI, TBI, OHA ciynrana CJIBIIIAJIA
Pl MBI, BBL, OHA CIY AN CIIBIIIAN
INFINITIVE
CITyNIaTh CJIBITIATH

Note that in Russian both of these verbs take “bare” Accusative. No Preposition is needed (or allowed):

Te1 MeHs cnymaens? Are you listening to me?

S] amdero6 He caplmania. Ididn’t hear anything.

@ Supply the correct verb (cnywai+ or cnbliwa-+) in the proper form:

1. Owna Bcé€ Bpéms (Present) pan-my3bIKy. 2. Ber (Past), uro s ckazama? (hear)

3. Hano Bcerna (Infinitive) mpodéccopal 4. Twimens (Present)?! (listen)

5. Tomopure rpomue louder. 51 Bac He (Present). 6. I'myxoii (deaf) uenoBék Huuero He (Present)
7. Ilo-moemy, s uto-To (Past) BHU3Y downstairs. 8. Buepa s (Past) Momapra.

9. Omn mukornaa He (Present) sxeny. 10. A e xouy naxe (Infinitive) 06 STom!
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,gg Exercise1  Write 4 sentences with the word ‘money’. Suggestions: 1) Ask how much money
someone has; 2) A person has no money; 3) Where the money is (lying); 4) A
person has a lot of money; 5) Where someone left the money

,gg Exercise 2 Write 6 number phrases (with the new numbers — as well as the old) with both an
adjective and a noun.

Example: JECATH THICSIY TPUCTA COPOK CeMb OOBIKHOBEHHBIX MAIIHH
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42- ypok DomallHee 3agaHue

2< Exercise 3 Translate into Russian:

1. + Did you hear what Vera said? - No, [ wasn’t listening to her. + You never listen to anyone.

2. How much (you can leave out the word ‘money’) do you want to spend for a present for (your) wife?

3.+ How much does this green tie cost? - $50 (Nominative is Aéaaap). + That’s too expensive.
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